MAFS.912.S-ID.1.2
Use statistics appropriate to the shape of the data distribution to compare center (median, mean) and spread (interquartile range, standard deviation) of two or more different data sets.
Item Type
Matching Item
Teachers, in order for students to be able to practice this Technology-Enhanced Item (TEI) Type for the FSA, they would drag the check marks (below the problem) to the boxes that are given in order for them to show their answer choices.
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Florida Texas

County [Population| | County [Population
Smallest 8,349 | [Smallest 95
First 27,013 [First 7,057
Quartile Quartile
Median 107,056 | |Median 18,293
Third 337,362 | [Third 49,426
Quartile Quartile
Largest 2,617,176 | |Largest 4,336,853

Florida has 67 counties and Texas has 254 counties.

« The mean population for the state of Florida by count
291,834 with a standard deviation of 467,012.03, and the

median is 107,056.

« The mean population for the state of Texas by county is
104,127 with a standard deviation of 374,012.2261, and the
median is 18,293.

Some of the data for both states is shown.

A business moves its corporate location from Texas to Florida. As a
result of the move, 8,193 people move from the largest Texas
county to the smallest Florida county, in terms of population.

Select all the population statistics that will be affected with this
population change.
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